10.

11.

12.

13.

14.

Tt fohg aqm =51 SeRw R 2

R, (8) sorfva  (0) W NG
‘ TR 1 gHiaaTEt s ¥

A & (B) 3 ' (c) faw (D)
‘A F EAER S rf‘%-d

(W) o (B) SRR

(C) gfrr=A dq (D) gdmaﬁmérﬁuw
frefafas ama § w@ifed o= = $9-m s1F 22 {V‘J

‘org =i foraE A9 W o)

(A) SHTT FREH  (B) HAY Fw (C) (SRR T (D)
‘T’ WIeg <1 TR YRR cd

(A) 9T THIEA (B) W Sga=A (C) o= (D)
‘a3 |

(A) (B) A A

(C) |Y=I AR Ster (D) werEt T

“Sron w=fed St - F W w9 ARy J

(A) 3Tqol S (B) W AHEAHE

(C) HMM dfasdq (D) WYEES o]
foafafad § @ SA-MER L2 <

(A) = (B) & () :f:% B (D)
* it 9 g e ¥ o

(A)  FAH-=q (B) =iga-vg () C¥F-fmt (D)
= 8 4 FH-91 IS T E@E B2

(A) SHU (B) siere (C) o™ (D)

‘gfg st St O @ 1 Ul - 39 9 H e 6 B 91 w9 § 2
(A) TGeTHR EEE  (B) WfTW ymE@  (C) RGegER W™ (D)

Freafafaa 4 @ o & g ®U H I Ffel (T

(C) 9% T fagut wfgen 4t (D) ﬁﬂ'ﬂ@ﬁﬁaﬁ'l

‘el HE FeA AR T@, R Y FAEe fawsta €1 ij%

39 1A U H HIA-H1 AR & 2 li‘:}‘a o
(A) T (B) erud ©) ﬁ-ﬁ—\jm V(D)
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15. frfafea § @ srdfom = fog aR-w €2

(YR By =) © (D) €=
16. YIS R fohg oo | wefd § 2 J

(A) Hﬁmﬂaﬁama”famﬁaﬁmﬁwaﬂﬁ

(B) fe=<it® X

(C) H&Hdd &

(D) e ¥ _
17. wmwwwaﬁmwaﬁﬁ—ﬁiﬁm?

(A) aEE-SEEwE (B) TR gc; =T (D) TE-=E TH
18. SRUI-%YA I BR T # FA-T edRE 2 (]

(A) eAfoerEifad (B) w® . (C) 3uar (D) ®U&
19. ‘o7=el’ g o wuivEnds F= 7

A) 4d (8) wagsifer (C) WA (D) =
20. HA-WAHE GE &7

(A) Tl H TE-a = 3T A

(B) TIferdl i TSl HTA SAETIF ¢ | ~

(C) W%aﬁmﬁqﬁﬂﬁﬁaﬁwml

(D) T& WFHFA FF @ €| o
21, fATIFR-WIR ‘M wadade 2

(A ™ ®) T ~=(C) (D) ==
22, VR TEE TR AI AL ? o0

(A) HHa=A (B) wWmEEE (c:) Ffard (D) g iR HHaT=A
23. Wwﬁmmmmgm%?r

(A) %eH (B) T ©) % D) ®
24. 3N 3EA @ FuE R e A g '

(A) TREES (B) FedATER (C) frwam== (D) fomaE®
25. o TR FEiY fig F ST Fia T Ry’ % fau fme wm @ g e e

(A) RS S (B) WIfed ehleHl  (C) HYI HHN (D) TSI FHA
06. =1 ¥ Yonde fFan 2 (@Y

(A) wEE (B) = O] () (D) W&
97, T A F-m v i ¥ 2

- (A = (B) fomr (C) R (D) =4
28, aﬁaﬂﬂ-mm%mmwmumﬂﬁm%n%wmqaﬁ?ﬂﬁwaﬁﬁmam%?
| (A) wgEifeE @ (B) aqsqﬁrmam (C} acgey §Ad (D) wHuRE @AE
29, ‘fTE! TN A F N HF ' amm%fmﬁv[am

(A) T (B) g™ () srgeri (D) SFHTER
30. ‘HR' w oM U= T :

(A) fowr (B) & (C) wifa= (D) wIH
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31. 'maﬁﬁaﬁ_wqﬁmsmm% s
(A) TR it 9R IR-9R & a6l
(B) &= 8w i wa 1 \J)
(C) =« - mmmmqﬁmﬁ
(D) E-]E]-.Té’f T T 3T W 5 Fhdl 2 L:-.iﬁf
32, ‘sifew ax A v ¥ 2 EM
(A) fees (B) =1 i T (0 ® Y %

)

[w. 4. 33 9 37 Tt wy ] sfoemm & m&aemﬁxﬁrw%mwmwaﬁ aﬂtqaﬁﬁm-—n

Hﬁmmmwﬁ@ﬂﬂg%ﬁ%wm@mgﬂ,mﬁm&ﬂm@aﬁmﬁgﬁﬁﬁwﬁaﬁw
Wt o197 37 STQEl A TR gen R 3R wfw @) ot ww 3 & T g o ofa o w® ¥ ol R I we
IS 91 @I ¥ | S 79 S suafs =1 scaa 7 ) §, 9 Wew UE hed §, U el % Gor | THY o
STfsET AR Watan U € | T gt uf SR g € fon, w9 5w sramy whd si vfis it
! WS H ? wigs H & fagm w0 1 99 ¥ 76 371 ® afer FiR vaw +e & afF 79 S 591 9new
WA T T R 8 20 o oft <reudd, W Q@ W GE | WA e w3 R arai wAS; difea Sl # ¥
T | TR Taes & T SR S B e, St i st 9 st @t frern g e & ww
TR T e Heeewian @ 6, WO st ity fire I | I T e g dve | 9 S o e
1 siEl § o1y ¥ ik 3 Hifea ¥ @ 76 TR W T T 8 AR gafa w afim s el e 1
AT BN 1 B9 379 WOHT hY WIHR F T | A0 9 o e & v & 4 R fava & fow ot %1 s
Ge =l focga 7o T2l | Fehdl, Fifs il T AR A U R A o9& frepea A 92 gu ¥ 1 wifa =1 stfavm
el T R, T A e o e § | wfe-sieii o of | o g g 6 S fawi | 9w
Tehdl ¥ | TRATY w1 S § om0 wfafiiy € erdter 3 3= ¥ fir 3 stmen vd favara & W 3@ S A W
It = =, ST A Y W IRV 0 e €1 e @ WRa %1 e i w5 § o
R 9= ® G | 3 F1ad 997 31 T ], e U feg R frafa 3 9 frn a1 el s s e el & g &
RA S o A TS ¥ 1 TS T T 1t off T o T Faren g B, iR on Stee St o= o W ¥ S
ﬂnﬁa@wm%tmﬁﬂﬁmﬁgaﬁaﬁﬁm%ﬂwm@wgﬁwmaqﬁ%ﬁ
e e 98 0 TEN iR frwss s < fadf | 3 gt fore we divma =61 & R, T T R % sed gl
wﬁmﬁmwmﬁmlwﬁmwmw% E@ﬁ!ﬁlmﬁaﬁm%lm T HA @A

7 37N F gfFa T 8

33. m%ﬂ%ﬁ%%w%ﬁﬁ? _
(A) 3T ISy (B) 3Tq=ﬁ'€-|'tﬁl'ﬂ1 (C) AT Wy (D) ST9AT $¥aR

34. wfyss yRaaTtaal & fag : _i"'

(A) e § “(B) A E

(C) Frist v & #1§ {{D)ﬂ WYL AT & H 7
35, TEMER F Wt & T e At H F TEEHE @ 2

(A) W 3@ | iy e [(B) U WEM GilqehR ST

(C) U =T fiFcHsR o (D) T HEH TMEeh S

36. T F da’ e o Qo T 2 - _
(A) R HI rEHEaRH W figmr (B)  ¥TUA FAISAl Wi dURTN
(C) ﬂﬁ?ﬁfﬁm (D) Tl wd swiREl S e

MYZ-24 4


https://v3.camscanner.com/user/download

31. ‘I3 =) g aIR-R T Ted wmad ¥ ;-
(A) ¥ Hit AR TR-SR T Frat 3
(B) A ww T = i"‘*-t?
(C) == - mmmammqﬁw
(D) aﬁ-ﬂaﬁ-—rmﬂmm%{
]
.

32, ‘' I=dUSE FE 2 -
(n o (B) 3 ‘_ C) = (D) T

[W. 9. 33 ¥ 37 TenivT ueA ] sfoem & mamma I A SO SR W I ki 3R A S e &
Tea st wer Teeiell A v 58 ¥ 1w oreeiaE 9 A1 T, W X F 39 W R o7 g e s
ft 79 37 el 1 TE o e R v <) o 76 g % U g T S R W € oI v T WE
IS 91 W1 ¥ | 3T & 570 Sqafsy &1 Soda 91 R E, o 7est Th heH 8, T STaE & o #1176 o 7
SYATSET SAIG Waten HXEH ¥ | 7 T o viitE iR gfem ¥ 6, o0 30 sm e and ol ufas &5 it
! WeR L 2 ufars § =5 fagm e ar 31 A 7 S € afew o v e € aifs g9 < 999 s
e W T 3R 58 79 a1 ft eddl, @ q@ X wh | vRa S S 1 A @ Tl wae fifea @it i iy
FHTAT | T HAGE © T SR ST S e, sSufEt iR e F SaEEa w6t fiver | g W & wm
TR SAfa i J8l Hechian @ ¢ &, ﬁwmﬁmﬁzmlwaﬁmﬁquwammﬁm
i @l # 31y € SR & difeq T a9 7% TA0 FW T TE 2 | iR saian w6 aiem s dm i wfed v
T B I T ST WOHI ! GRS | A0 9d % o & o € A 9 fava & faw o ¥ o w
GT I foegpa 31 78 99 Tehal, Hifew 9t g 21 AT uw g | 98t frevea @ 2 gu ¥ ) wifa o sfaym
e T 8, T e T ot afarrsy ¥ wyfg-sisein fomm o | o g1 gfen = Se-o el A W dlas

Fohell € | YRGS F1 SHa1 @ a0 ufaffy € srite 3w € for 3 omeen wd faveary & iy 5@ sfvam 2 B
il T=0 STei=Hl, SHTE 3120 TER W SIS ST TR I € 1w WA R 1 HRE Frier e © vl o
R ® TF | 1 e o on mn §, ue vy feT 9 frafa A 7a fea an sl us s R st & ded & &
R SIJd & W T8l 8 1 F 82 deh 31l oft 3R v 70 Faraeht g7 €, 3IR &0 3o St o= oid @ € =4 i
ﬁﬂ%ﬁﬁéﬂﬂﬁm%lmﬁﬂﬁmﬁﬁmﬂaﬂﬂﬁ,aﬁz@ﬁm@wgﬁﬁmaﬁqﬁaﬁr%ﬁ
g hrerE 5@ eq TR iR forms s # & ford™ | A T e e | & 4o ¥, U U an w1 33 gt
T T 1 AR | T T ST g @mﬁm&f@aﬁaﬁ%lm 3 T Fft T T A
TE AR F T Yfer 7

33. mﬁmmﬁqm%aﬁwﬁgﬁﬂﬁm7

(A) 219 STe (B) aqq#}zrfqam (C) STu yal (D) 3T9 ¥R
34, fyss wREafeET & o “
(A) HETHE § __(B_) AEH }
(C) Frmtyam @ #1 8 _'{D) QT TS T
35. Wﬁﬁa%mwwﬁaaﬁwmw@%7
(A) TTF @ @ o1y faer [(B) U WEM WldHR s
(C) UF &=l fFes R a1 (D) U WM TFH F0

36, T R den e fo A @ 82
(A) ST H EEFAST # fiemr  (B) ST AT W AAM /T
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37.

39.

41.

42.

T % SIHR, ST FIAT HI WBR FA & F & o e g 2

(A) Hfe IfEm B (B) Frawdramnerm

(C) SHRI-ASANY S @ &M (D) 3TUR & THA HE B

fae fra @ S g1 §2

(A) e (B) @ISt () oS (D) STRmiTE

Real is the currency of which country ? (@p) :

(A) Bhutan (B) Canada (G)‘x Brazil (D) Afghanistan

mﬁqﬁmﬁﬁmwﬁwqﬁﬂw%? 'ﬂ

(A) FEH (B) wewE (c),;zamm (D) T

Ellora is a sacred site in which of the following state-"?

(A) Karnataka (B) Maharashtra (Gl“\ Rajasthan (D) Gujarat
ﬁwﬁwﬁﬂaﬁmm%%ﬁﬁmmﬁa%l

(A) FefwfEm (B) EF-Fmsifism  (C) fafym (D) <= feggfem
involves changing data prior or during input into a computer.

(A) Catfishing (B) E-mail bombing (C) Smishing (D) Datadiddling

e SAfRl st WrE i S 6 feeat sroieti § sterg o T R 2
The Universal Declaration of Human Rights is translated into how many languages ?
(A) 500 (B) 300 (C)—&:?OO (D) 400

QYS! wEE SH A (PMFBY) s1 8 2 ‘”‘“t__:

(A) T2 FfuIeR w FEba s ® aﬂtmﬁﬁmﬂ:msﬁﬁqmgﬁ&am%l

(B) T & # T SR 1w Fw ¥ "’?

(C) %ﬁa@?ﬁumﬁmmﬁqaﬂtm&m%‘aﬂtwﬁwmﬁraﬂmﬁ% e framt =t

. ufewet yeA w1 ) s

(D) ngﬁaﬁmﬁﬁgﬁnm%ﬁ?wmﬁw@haﬁm# T V&H
FET

What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?

(A) It regulates agricultural markets and ensures fair prices for farmers’ produce.

(B) Supports sustainable production in the agriculture sector.

(C) Supports and promotes organic farming pracllces and provides subsidies to farmers for the
adoption of sustainable agricultural melhods

(D) PMFBY improves rural infrastructure and-prowdes employment opportunities to youth in
agricultural communities. ﬁJ
1
TegdienE (WPI) &1 I8 ¥4 § :
(A) T fie (B) 3‘@?{3 ELESEELE
(C) o Uy s (D) AR s
The full form of WPI is : O\

3
(A) Whole Print Index ~ (B) V(tloLgsale Price Index
(C) Whole Price Index (D) Wall Price Index
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46.

47.

49.

50.

DDoS &1 H& HIH Tl

(A) feice feama aitw wfdg (B) fefigsyes feme e wfdw

(C) fefigsges = oiiw wfidw (D) e feame sife afdd

Full form of DDoS is .

(A) Detailed Denial of Service (B) Distributed Denial of Service

(C) Distributed Data of Service (D) i»l_;li:;ect Denial of Service

T @ ¥, fore faem =t ofafte smamm & fow 2024751 wm. St fent e qeehr firen ?
(A) T NG (B) (Sigam-2 fagm

(C) =izam-3 fawm (D) (HiE aitfefex frem

Recently, which mission received the 2024 ‘Jouﬁ;l,_. ‘Jack’ Swigert Jr. Award for space exploration ?
(A) Gaganyaan Mission (B) ]-.Qhandrayaan-z Mission

(C) Chandrayaan-3 Mission (D) (Ers Orbiter Mission

TeliferT 39U (WERHE) R mEF ¥ R

(A) TEEfq (B) XU UT (C) Au=gA (D) wHuE
Galilean satellites (or the four moons) belong to which Planet ?

(A)  Jupiter ~(B) Uranus (C) Neptune (D) Saturn
fora f =Y yoam Fivy foem & w9 & w9 s @2

(A) SHEd & d9 aHER (B) g 1 ygan foA

(C) WTd =1 THU YaR (D) =T I T&aT HIAAR

Which day is observed as No Smoking Day ?: ™

(A) Third Saturday of January (B) 1 First Day of May

(C) Second Wednesday of March (D) LFirst Tuesday of March
wHieTRl g WRIfEd “efHead OTT i - ﬁﬁﬁﬂﬁwmﬁ%mf*ﬁ%ﬁm?

A) Tt Fea (B) e gt

(c) fTafas smeamit (D) ! ¥t

Who directed the critically acclaimed Netflix QT%eries - Delhi Crime ?

(A) Richie Mehta (B) I'Vishal Bharadwaj

(C) Nikhil Advani (D) Hansal Mehta

FIA AW 2021 H foeehied B FHH Gu1 % €9 H SYAN T A TgEAl 59 57 T 2

(A) Ta=ws (B) = STeT (C) MM (D). 3 HIeAER
Which country became the first to make use of Bitcoin as a legal tender in 2021 ?

(A) Switzerland (B) Venezuela (C) Japan | (D) ElSalvador

ASEAN(W)%ﬁHﬁWﬁ‘WW@WWW%?

(A) Fifes weafim B W@ e T oy .

(B) IrerMEETE! fifadi Y s@mEn It §

(C) ﬁm—&ﬁméﬁ%mﬂww,mm%%ﬁmmwﬁaﬁmaﬁ%
(D) AR % INTE HH Hl 8 ; £ i

In relation to ASEAN, what is the importance owia‘s Act East policy ?
(A) Limits diplomatic engagement

(B) Promotes isolationist policies N .
(C) Enhances economic, strategic, and cultural ties with Southeast Asian countries
(D) Reduces trade opportunities
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51.

52.

56.

57.

ST § fohan S Hisg €2
How many countries are present in Africa 2\
(A) 54 (B) 52 {Jic) 56 (D) 50

o T S (qd W iR ) A e e w2

() e O % R 3 e el STREEER SR T 3 s H g

(B) m@m%mmﬁnwmﬁwml

(C) YR ¥ 9fiaR Hf fera Y s 21
@Wm%%&ﬁ%mwﬁeﬂtwﬁQWW|

What is the main purpose of India's Look East Policy ?

(A) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(B) Strengthening economic and strategic ties with Southeast Asia.

(C) Promote agricultural development within India.

(D) Improve relations and trade with European Union countries.

TSUTE, HIGEE SR YL E -
(A) T (8) wTmiidHufd ((C) ST Hufd (D) WA gufd

Trademarks, copyrights and patents are : 5

F

(A) Investments (B) Fixed assets ;= (C) Intangible assets (D) Current assets

g Tt sifufE, 1956 fﬂmﬁﬁmm“am%?

(A) T H (B) A & &(C) et (D) SAEEINIH H
National Highways Act, 1956 is applied to which tax policy ?

(A) Entry tax (B) Tolltax = (C) Service tax (D) Professional tax

ﬁnﬁf@aﬂﬁﬂqmmaﬁmaﬁmmmﬁw(MGNREGA)E!%@%@W%?
(A) Fow FUA FHE H AL KA

(B) wBd SR SUcTsd Tl

(C) ufa=d 100 fg & aa7 IR =t T

(D) frsit &= ¥ I =Y TerHw

Which of the following is a feature of the Mahatma Gandhi National Rural Employment Guarantee Act
(MGNREGA) ? 1

(A) Targeting only skilled labor =

(B) Providing urban employment )

(C) Guaranteeing 100 days of wage employment per year

(D) Offering employment in the private seg,nt_gn

g § UPig gy feaa frm wem § waman saie 2

(A) fegsx (B) sH Cric) far=r (D) &M
National Milk Day is observed in India, in which; rnomh ?
(A) December (B) June NC} September (D) November

IR TSN Y I B T IRIAE T T AT ewia Ferl wed 3R Sifed Feah & A qe= S ¥ 2
(A B (B) FHiage (C) waATrd (D) wFE®

Which traditional dance form originating from Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork ?
(A) Chhau (B) Kuchipudi (C) Bharatnatyam (D) Kathak
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58. ﬁmﬁm@aﬁqwﬁﬁmﬁqﬁqaﬂwmﬁWWaﬁwﬁaﬁqﬂmwﬁp

(A) at—raﬂtwﬁﬁaﬁvﬁrmﬁwﬁ%g “:i

(B) I A WREW fafe L

(©) e wfr fafe (GALL) G "

(D) & YAfeEm o @

Which company h

Exchance ,,p Y has become the first ?Smﬁpany in India to trade domestic gas on Indian Gag
(A) Oil and Natural Gas Corporation Ltd
(B) Indian Oil Corporation Limited -

(C) Gas Authority of India Limited GAIL
(D) Bharat Petroleum : )

1o IR S 3 dere e wewi w ¢ Adwde srwRe’ w0 <t 2 2
(A) '@ﬁﬁﬁwm%mm%%

(B) W =1 1o o foman St .

(C) T U s+ =afa = e | deiftg 2 oik yaifve &

(D) @ H I S dem afuw T

What does “verified account” signify on somal medla platforms like Twitter and Instagram ?
(A)  The account is used for advertising .

(O

59.

(B) The accountis frequently used 7

(C) The account belongs to a public flgure or organization and is authenticated
(D) The account has a high number of followers

60. 19421%%3?1@[%%%%3“3@@#&?

(A) <SR (B) wirE femfaemt= (C) < ¥da (D) wirE wEA
Who was the Viceroy of India at the time of: the Quit India Movement in 1942 ?
(A) LordIrwin (B) Lord Linlithgow: (C) Lord Wavell (D) Lord Mountbatten

61. WIW 1 T a1 YIRS F 9182
(A) TR ST EUEEd, TEUEE
(B) HRAIY WU, Shiciahral
(C) g Ty, % foeeh
(D) Sl RrETSt Hers o U, guE
Which is the largest museum in India ?
(A) - Salar Jung Museum, Hyderabad ;‘} 3
(B) Indian Museum, Kolkata £
(C) National Museum New Delhi (a0
(D) Chhatrapati ShIVa]I Maharaj Vastu Sangrahalaya Mumbal

62. Frefafaa ¥ A $i4 91 3w wdmuren ¥ Friffa b deme ww s e TEen 29 912

(A) HHE (B)) Tga TT TR

(C) Taree faren - (D)) wferaa i

Which of the following countries was theiflrst to achieve controlled nuclear fusion in a laboratory
setting ?

(A) ?:rance (B) United States of America

(C) United Kingdom (D) Soviet Union

63. S I iadgia dfy sl & Sifurl W Hfsa §2
Which international treaty focuses on the rights of children ? : \
(A) CEDAW (B) ICCPR (C) ICERD (D) CRC

L e T e it
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yfag 79 ‘3 e 3t < Sfea’ frmd gw foredt € 22

64.
(A) < ST (B) ofHw TSl (C) faat rem (D) TH.TH. FHMEI
Famous book ‘The Return of the Native' is written by whom ? '
(A) Lioy Douglas (B) Thomas Hardy (C)-.. Bill Gates (D) M.M.Kaya
65. wforaen # gy Q ITC =1 qof & w.m ¥ 2 |
(A) SRHA HE HEAI -y
(B) $eWdl o€ Y (iafes =R afoea) i
(C) T a9 HHd (iafe w afvrey)
(D) YR 399 whfee 3
In terms of economy, what is the full form of ITC 2
(A) International Tax Company
(B) Internal Trade Commerce oy
(C) Internal Tax Commerce
(D) Input Tax Credit
66. WRGH ‘ATOEH W &’ FMR?
(A) W gl s Rl fadd sifiem
(B) UA-UEE AT s
(C) R H Ao ot sifmm
(D) oue fatedt et L A
What is the ‘Operation Green Hunt' in India ?
(A) Anti-drug trafficking operation
(B) Anti-piracy operation
(C) Counter-insurgency operation in Kaghmir
(D) Anti-Naxalite operation ¢
67. 2014 # v # et Wifd TEHR fohe wra T?wen? —
(A) T I@ (B) fean Mg (c) et @ (D) Har g
Who received the Nobel Peace Prize in 2014 in India ? '
(A) MotherTeresa (B) NadiaMurad (C) Amartya Sen (D) Kailash Satyarthi
68. a4 2021 H U & =i H YHIE 2000 T F Al w1 gea (T fefeam #) 7= g2
What is the value (in INR trillion) of Rs. 2000 notes circulated at the end of March in the year 2021 ?
(A) 2.00 (B) 6.00 (C) 4.90 (D) 1.90
69. IHAM W H i Uiad fohaeh T R?
(A) 9TE & &I AR (B) uuﬁqﬁ
(C) wpufa (D) a‘m‘-rm e
Who has the power to dissolve Lok Sabha ?
(A) Chief Justice of India (B) ane Minister
(C) President _ (D) Speaker of Lok Sabha
70. el & ¥ 3T aﬂwwwﬁmﬁmﬁmmﬁwmaﬁaﬁmm%
(A)  ervarEH (B) w¥e SeH (C)y ‘et S=M (D) WerEH
The economically secure white people migrated from urban areas to suburbs is called :
(A) Immigration (B) White flight (C) Black flight (D) Migration
MYZ 24 9 P.T.O.
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71, Sifafogr S € 2

(A) ST St qE AT wQ §
(B) J=ifTe S AR 1 ALTIH | &
(C) SifTw St STTEl STl & IR & awaﬂ?f%
(D) TN S U= F AR 31&1'6['—!7:51%%“
Who are ethologists ?
(A)  Scientists who study only plants Iff;ﬁ___“_,j-.
(B)  Scientists who study ethos
(C) Scientists who study the behaviour of wud ammals
(D) Scientists who study the behaviour of hu[nans

72, ﬁﬁamﬁﬁnmaﬁmaﬁ_‘mmwm# el | azﬁﬁaaaam’r‘qﬁm
(A) 10-11 @/g (B) 7-8 @ (c) 4-5 A (D) 1-2<m@ .
The financial or the banking system will receive an additional boost in terms of Crore of
base money each year.
(A) 10-11lakh (B) 7-8lakh (C) 4-5lakh (D) 1-2lakh

73. SAARC Wl Haeid 11 £ 2
(A) WRY-IR TR THIfgeE Wi IS SR
(B) WY AR THifawYE wR doa Sistied
(C) =Y Uiy THifuRm Wi I5Ha Hieiiawm 3
(D) UISY ITHIHT THITARMA B IsHa a%‘ramim
SAARC stands for :
(A) Southeast Asian Association for Reglonal Cooperatlon
(B) South American Association for Regional’ Cooperatlon
(C) South Asian Association for Regional Cooperatnon
(D) South African Association for Regional Cooperatlon

74. Siciehl i THA LT RN E? Y.
(A) i@ (B) it (C) I (D) =W
The national currency of Sri Lanka is :
(A) - Ringgit (B) Rupee ' (C) Euro . (D) Kyat

75. I Gl W A G STt uigyd % BRI Y-ardig Sl & Sad STEr & fag s i 2
(A) st (B) i H(C) wTEEdT (D) sfefern
Which country is known for its extensive use of geothermal energy due to its unique volcanic
landscape ? P
(A) Brazil (B) Norway (C;) lceland (D) Australia

76. = S AN 1 AU fAEH <= wEd 40 m;mmafmomﬁfﬁﬁﬁmﬁlﬁﬁﬁm
agmaﬁﬁmmm%qaﬂ‘ﬁﬁ?maﬁsz WIﬁ’mumméaﬁmaﬁQWﬂmaﬁﬁé7
The ratio of quantities of sugar in which sugar costlng Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no galn 'or loss when the mixture is sold at Rs. 32/kg ?
A) 1:4 (B) 2: [(C) 31 (D) 4

77. 3 R H R F SAE 3:4:6 &, 31 BRI 5H TAF G4 T FHA | T A THA 6 ST 17 ?
The ratio of speed of 3 cars are 3:4:6. What is the ratio of time taken by these cars to cover the samé
distance ?
(A) 2:3:5 " (B) B:4:6 (C) 6:4:3° (D) 4:3:2

MYZ-24 10
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78.

79.

81.

A@maﬁeaﬁ#rﬁaﬂm%a?ha Aﬁ@mﬁm%a}ﬁmw%ﬁraﬁimaﬁaﬁﬁam
fag e fe B Senm = 2 2
(A) 49 fE (B) 40 &= (C) 60 fea (D) 45 fe

Acando a piece of work in 63 days and'B i5,40% more efficient than A. Then the number of days taken
by B to do the same work is :

(A) 49 days (B) 40 days ;

(C) 60days (D) 45days

Ife 6 BEI H1 3Ed YR 50 fFm §; 2mﬁrmaﬂwm53m% 3R 2 B 1 3frEd yr 55 ferm €,
[ B T SfEd WRE

(A) 51.6 T (B) 64 fFm : (C) 52.5 fam (D) 55 fermm

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 51.6kg (B) 64kg (C) 52.5kg (D) 55kg

30 Hemstl 1 3fEd 1.2 31370 9 gl 20 1 3094 1.1 § 3R T 9 o1 3ida 1 &, o st den s g ?

The average of 30 numbers is 1.2. The average of the first 20 of them is 1.1 and that of the next 9 is 1.
Then the last number is : = W

(A) S (B)

(C) 4.9 (D) 4

(A) Rs. 36000
50% IR 40% I Hf+ g2 fhat Wq&% TER 7 ?

Successive discounts of 50% and 40%°equal a single discount of :
(A) 48% (B) 60% (C) 20% (D) 70%

12,000 %93 W 9 FEA % T 20% Ut o it WA ThfG A, IhafE TS I € :

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is : .

(A) Rs. 1750 (B) Rs.1891.50.  (C) Rs.2089.70 (D) Rs.2136

TS T BIsHL 99 Fi A 66 ﬁ?ﬂ/ﬂa%aﬁtwﬁm%m@xwﬁnﬁwsﬁmﬁm% ?ha@:ratﬂ,aﬁ
foa e st 872

Excluding stoppage, the speed of bus is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ? [

(A) 10 (B) 15 G P ¢ ) T | ¢ (D) 20

_.J

ﬁmﬁaoooomﬂﬁwﬁmaﬁh{%ww T ML H 10% & A R AR M Bl 5% H
%’rﬁméafawaﬁawﬁtﬁéﬁﬂmwommﬁm% A IS R AT qoF @ ot ?

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 20,000 (B) 30,000 (C) 32,000 (D) 18,000

Rs. 34000 (B) (C) (D) Rs. 32000

P e : = PTO.
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86.

87.

89.

90.

91.

92.

T TR S W, A F AT F 1/6 % Faw ot 1 1/6 W FE¥ FW R, B FA WA F 1/4 F faw
it 1 1/4 ﬂmﬁ&mm%aﬂtomnﬁﬁmﬁmﬁwm% a1 1940 T3 & w19 H B w1 fawy
fram 22 . 2

In a partnership business, A invests 1/6!" of the capltal for 1/6 of the total time, B invests 1/4!" of the

capital for 1/4 of the total time and C, the rest of\ the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. .

(A) Rs. 180 (B) Rs. 200 "'TTC) Rs. 120 (D) Rs. 160

ﬂﬁ:ﬁmtﬁm?%mw%s%ﬁzwaﬂwﬁﬁwq@mg%mqﬁm2m@m%aqﬁqzﬁ
, O %4 T iR foska wow wa wife@ -

If 7% of S.P. is equal to 8% of C.P. and if 9% of S]P is Rs. 2 more than 10% of C.P, then find C P. and
SP.:

(A) 800, 950 (B) 350, 700 (C) 350, 400 (D) 700, 800

39 =afeRt wfafes 10 =52 &M &t 12 i H s gor #t 7owa = gwa 8, 1 30 =afm wfafeq 6 52 &
w0 B H1 e Rl § U S 2
(A) 15T (B) 20 f _(C) 26f (D) 14f@=

39 persons can repair a tunnel in 12 days workmg 10 hours a day. In how many days will 30 persons
working 6 hours a day complete the work ? )

(A) 15days (B) 20days (G) 26 days (D) 14 days

% T wg e g 990 iR 13303ﬁﬁmﬁa$ﬁmm 6 IR 10 JFa Wi B B
The greatest number which divides 990 and! 11330, leaves remainder 6 and 10 respectively is :
(A) 20 (B) 24 % '_{'C} 35 (D) 15

0.7, nsmusmnnw(HCF)maﬁﬁm
Find the HCF of 0.7, 0.35,1.05.

(A) 1.005 (B) 0.07 () 07 (D) 0.35

uﬁ???szﬁq’nmaﬁﬂfﬂﬂﬁalé’t%ﬂ%?mﬁﬁ@ﬁaﬁmaﬂeﬁ%ﬁt%‘wﬁmm
HifsTu |
(A) 150 =t (B) 118 =t (C) 1264t (D) 154 ¥t

A train is running with a speed of 79.2 km/hr and] it crosses a pole in 7 sec. Then find the length of the
train.

(A) 150 m (B) 118 m ’}{C) 126 m (D) 154 m

IfE fordt g WA 154 @ 40% mfweﬁrﬁm%mﬁ'aﬁﬁ? aﬁmqﬁmx%aﬁﬁzﬁm% ar 12%
maﬁqmmﬁmﬁlmnﬁw#mmmwzmum%aﬂu%mmﬁ B2 e e 15
=1 Tosra geg = € =few ?

An article is marked 40% above the cost pnce' If a discount of x% is given on the marked price of the

article, then a final profit of 12% is obtained.(Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling pnce*ogthat new article ?

(A) Rs. 3,480 (B) Rs. 2,400 (C) Rs. 2,480 (D) Rs. 2,880

300 T3l &1 fasra ged, 500 gl & 4 ged & SR E, A @l a1 a wioem 91 s |
S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.

K ||i:“ |

(A) 24(2!'3)% (B) 25(2/3)% (C) T72(2/3)% (D) 66(2/3)%
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86.

87.

89.

90.

91.

92.

93.

T WG U F, A F9 T F 1/6 F fag ot 0 1/6 9 FA9 1R, B F 9 F 1/4 % Ty
git T 1/4 Wﬁﬁwm%ﬁtcw‘ﬁﬁ'ﬁwﬁ?mﬁaﬂm% @ 1940 T F @149 H B 1 fewm
fora &2

In a partnership business, A invests 1/6!" of the capntal for 1/6 of the total time, B invests 1/4! of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. ~J
(A) Rs. 180 (B) Rs. 200 ( k.{C) Rs. 120 (D) Rs. 160

ﬂ&ﬁwwaﬂ?%mﬂﬂ%a%%wsﬁwﬁﬁmnﬂmg%wnﬂmzmﬁ10%&1%

2, A %9 T oIk g e I AL -

If 7% of S.P. is equal to 8% of C.P. and if 9% of S P. is Rs. 2 more than 10% of C.P, then find C P. and
S.P.:

(A) 800, 950 (B) 350, 700 (C) 350, 400 (D) 700, 800

39 =fa wfafes 10 52 M %6 12 &H § T GO it 90Ha w96 &, 91 30 =afEm yfafed 6 e o
w0 wY R A ¥ qu e ?

(A) 15 f&= (B) 20 fe= (C) 26 f& (D) 14 f&=

39 persons can repair a tunnel in 12 days work:ng 10 hours a day. In how many days will 30 persons

working 6 hours a day complete the work ?
(A) 15days (B) 20days & {G} 26 days (D) 14 days

9% el <1 gE fod 990 @i 1330 ﬁﬁﬂ@amﬁwm. 6 3R 10 Y9%a 9T Ba1 & :
The greatest number which divides 990 and?1330, leaves remainder 6 and 10 respectively is :
(A) 20 (B) 24 TC) 35 (D) 15

07 0351osmquq(HcF)maﬁFm| L™

Find the HCF of 0.7, 0.35,1.05.

(A) 1.005 (B) 0.07 {o} 0.7 (D) 0.35 _
wF 3 79.2 frdll/da ) fa @ wa W@, 9% 7 WS H U WY FOUR FA E, A A SR 9@
Eqiedl

(A) 150 #t (B) 1184 (C) 126 #i (D) 154 %
A train is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the

train. : : -:._ ks
(A) 150 m (B) 118 m (C} 126 m (D) 154m

afe fordt ag W A 44 | 40% aﬁmm%mﬁaﬁ% aﬁﬁiqﬁmx%ﬁigamﬁ% qr 12%
%1 Sife| &y W BT g | maﬁwﬁm‘gmmﬁa 2,400 TT ¥ 3R x% & Fifea ¢, @ S6 K. T4
w1 fersra W[4 1 BIA1 =feT ?

An article is marked 40% above the cost price! lf a discount of x% is given on the marked price of the
article, then a final profit of 12% is obtained.(Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price oLthal new article ?

(A) Rs. 3,480 (B) Rs.2,400 (C) Rs. 2,480 (D) Rs. 2,880

300 e 1 fased g, 500 TGS & 4 oA F UK B, TN B A1 T Wiwd 96 hifs |
S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.
(A) 24{2r'3)% (B) 25(2/3)% (C) 72(2/3)% (D) 66(2/3)%
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94, U faemedl 7 6 Y- 1 wlian < | YOS TH-TF % A atfushan i ThwEE ¥ 137 ye-vs # 39
i 5:6:7:8:9:10 & UM H € | Fo¥ MHTTHT 3T 60% 376 Ira for | I feme wre-wsii H aiferemam
3l & 60% ¥ HH 3w Wi fag ?
A student appeared in 6 papers. The maximum marks are the same for each paper. His marks in this

paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

A S (B) 2 (0} (D) 4
95. uﬂﬂﬂaﬁaﬁqﬁaﬁzm‘hﬁﬁmﬁf!ﬁ@ﬁmwaﬁsﬁﬁfmmﬁmﬁmwmmmﬁl
g ;L m%%ﬁm%wm%w@%l
I S ST AR

frerd . 1. T ST & O g
2. EHr g I )

(A) T frepe 1 ST & 2 ST F R

(B) S freard 1 HTHLT i &

(C) THi frerd w4 ¥

(D) Saw Frewy 2 FATHW FH ¥ :

Read the assumptions and select the best co nc1usmons/conclusnon that follow/follows the assumptions

definitely.

Assumptions: | Ajay is the father of Shreyas, Suraj is the brother of Shreyas.

1. Seema is the mother of Shreyas
Conclusions: 1. Seemais the wife of Ajay._-—
2. Seema is the mother of Suraj

(A) Neither Conclusion 1 nor 2 follows

(B) Only Conclusion 1 follows

(C) Both the Conclusions follow

(D) Only Conclusion 2 follows :
9. G A%B=A+B—1, A 10% 2 FNT?

fA%B=A+B—1,whatis 10% 2 ?

(A) 20 (B) 5 (€)1 (D) 12
97. 200 BHEI F AL F UR R, 140 BT H Hice (o TGS &, 120 B! HI fHehis 16T, EﬁT{BOEﬁﬁ :

1 2HT T4e €| fhan B 1 HH Y %Y TH 9T TS §?

Based on a survey of 200 students, 140 students like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at'least one of the drinks ?
(A) 180 (B) 75 _(c_; 200 : (D) 140

98. Hafyd I1s% =1 I TG |
vied fafereas : gl weg ¢ ? -t

(A) &k (B) HUTH (C)-. HAT (D) w9
Find out the related word. \ ‘;_-'_"

Surgeon : Scalpel :: Carpenter : ? b, :

(A) Saw (B) Computer (C} Camera (D) Brush

99, frfafed g ¥, mﬁqmm%mwmmﬁqm%mﬁ@wwﬁﬁqwmﬁmﬁ
F1 374N Fh ?ﬁmwm%lwmaﬁmm
fean @ w12 : “MACHINES”
In the following question, you'll find four other words provided alongside a given word. One of these
words cannot be formed using the letters of the given word. Can you identify that word ?
Given word : “MACHINES”
(A) CAMEL -(B) MESH (C) SEAM (D) NAMES

e i s

MYz-24 13 P.T.O.
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100.

101.

- 102.

103.

104.

105.

ﬁmﬁf@ﬁaﬁqﬁmﬁmaﬁﬁnwﬁmaﬁaﬁm%mél
RK59#B2%* E‘?ABL$I4SV?lCBN@H13&D

@ TR sjen § awTen Ts Feifa ®E: 542, 28, $4V) )

Examine the following sequence closely and respond fo the questions that follow.
RK59#B2%" E’?ABL$I48V7ICGN@H13&D

Determine the next term in the series : 5#2, *78, $4V

(A) He# (B) le@ (C)l : H1& (D) L8% .
Heiferm v @ -;
[ECaL B S TR U R . i
(A) TS (B) =Y (C) 9w (D) emEd
Find out the related word : :
Triangle : Polygon :: Square : ?
(A) Rhombus (B) Quadrilateral (C) Circle (D) Rectangle
**ammﬁmm@ammm“ wmﬁﬂ ‘g qar%vrq”amamamﬁ%?
(A) EEA AT H g T i .
(B) I 1 HE
(C) T &l |y T
(D) STTUY FW T THS T -~
In the context, “They were caught red-handed trymg :_steal“, what does “caught red-handed” impl:
(A) Found injured oy
(B) Actof kindness i
(C) Found with red-hands
(D) Caught in the act of committing a crime
T AR 10 HIZ I 1 AR =erdn &, 5T 20 Hiex o o1 g €, i 20 Hiet 31 o v &, s
10 HIX TE IR Tl T | 98 Y& 9 37 aoh feha-l g3 det 741 & ?
(A) 25 HIX (B) 45 X (C)-, 28 HI (D) 51 HiX
A person moves 10 meters north, then 20 meters to 1he right, then 20 meters to the right once mol
then 10 meters to the right again. How far has he gone from the beginning ?
(A) 25 meters (B) 45 meters (C}@‘zgs meters (D) 51 meters
< ¢ sfEen § g@ e’ 99g I BT ; =E—3¥¥
Find the missing letter cluster in the given series :[x )
BYHN,CWKM,EUNL, ____,LQTJ cC ;s
(A) GSPK (B) GRPK (C) HSQK - (D) HRPQ

- sjEen # < SeAd (A iR B) T HY AR B —A %1 HH F1d

- Find the missing numbers (A and B) in the series and find the value of B—A.

11, 22, 33, A, 55, 66, 77, B
@) 83 (B) 44 (C) 55 (D) 88

MYZ-24 14
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106.

107.

108.

108.

110.

m.,

34 faseq =1 g fe e set 9ey & 9 S € S fRe e den g R amEn

Select the option in which the numbers share the same relationship as that shared by the given pair of
numbers.

12:20

(A) 25:57 (B) 34: 3 (C) 1933 (D) 30 : 42

Ifs 352 ‘RECONCILE’ & 43, 58, 74 3t 89 1adi & Q%Qﬂm AR 31&R 1 Ve I o Ghal £1 A
18T 1 T G b STeful wieg R W Wb §2

(A) R (B) T C) T, (D)

If a meaningful four letters word can be formed fron'j_-{'t_gé 4th, 5th 7th and 8" letters of the word
‘RECONCILE’. Using that letters how many meaningfql qurds can be formed ?

(A) Four (B) One (C) Two~, (D) Three

o o o o e @ 91 270 Pt e 9 &, h o v e 99 i e o
%2

@A (B) ufzm (C) < (D) W
If you start facing East and turn 270 degrees anticlockwise, what direction are you facing now ?

(A) East (B) . West (C) South (D) North
frerfefian 3 | S A A AH Y AT E?

Which of the following sequences is different from the rest ?

a. 1,4,9,16 b. 1,827, 64

c. 2,6,12,23 d. 1,16,81,256

(A) 1,16,81,256 (B) 1,4,9,16 (©) (D) 2,6,12,23
39 AT Y TETH o e B U FA B

Identify the figure that completes the pattern.

? : :
(X)
B eB @ ol

X L'_______i~__";]
frofafiag # @ 1 @1 @ Tfeens, Twmeil i fadnel e deidi # Tl o= <0 | <ial §7?

Which of ‘the following diagrams best represents theﬁ?‘eiﬁtionship between Women, Mothers and

Fathers 7 O
>
A OOO (B) @O (C) @) (D)

Yz-24 | 15 P.T.O.
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112, <= fean T S’ Me &) wmEr st 2006 afnzoo?ﬂ:aﬂmwmmmaﬁ%maﬁﬂmm

el

=1

113.

114.

115.

116.

fasht (1000 =t H&m ) <ufar 2

The bar graph given below shows the sales ofbooks (in 1000s) from six branches of a publishin
company during two consecutive years 2006 and 2007.

2006 3R 2007 ﬁ@ﬁﬁﬂ?ﬁﬁﬁaﬁ'@%?ﬁ@eﬁ\ ,m A2, A3, Ad, A5 3R A6 | q&aa! i felshl (&sm

I H) i
Sales of Books (in thousand numbers) from Slx Branches A1, A2, A3, A4, AS and A6 of a publishing

Company in 2006 and 2007.

120 e 110

)
(™
100 (N
80
60
40
20

0

Al A2 A3 A4 A5 A6  _ )
m2006 2007 £

21 =l & fore v A2 ﬁgmﬁaﬁmaﬁraﬁa:mmmaﬁwﬁﬁ@wwﬁ
What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for botl

years ? "-—_ = )
(A) 57 (B) 8:9 T o) 79 - (D) 67

e fifed Fe sy F, ‘FLOWER' 1 RFOELW'#Ecrﬁrg&aﬁmw% A ‘ANIMAL 31 59 TR fore
SITQ - -

In a certain code language, ‘FLOWER'is coded as ‘RFOELW', then ‘ANIMAL’ will be written as :

(A) LAJDNM (B) LAIANM (C) LANIAM (D) LANJAM

= fbEEEE, N ® Y, 'S R D, R FQ, O F P, TH K, M HZ, AR M G HS
fora < 8, @ 39 e § ‘ORGANISM’ &34 ferar smam ?

In a certain code, ‘N'is written as *J, ‘S’as ‘D’, ‘R'as ‘Q’, ‘O’as ‘P’, ‘I'as 'K', ' M’as ‘Z,, ‘A’ as ‘M'and ‘G

as ‘S’, then how will ‘ORGANISM’ be written in that codé ?
(A) PQMKJZDS (B) PQSMJKDZ (C) PQDZSMKJ (D) DZMSJPQK

T 1 | U SACH, IHH T, w%ané%aﬂxwmaﬂtmﬁéimﬁahaﬁmﬁa &
il # forem @ 472 s
A party consisted of a man, his wife, his four sons and their wives and three children in each son’

family. How many were there at the party ? il
(A) 23 (B) 18 ' (C 20 (D) 22

V)
w fom gus 93§, & few & qa e g, 135 mwm%aaﬁwaﬁaﬂﬁmﬁmmﬂ
efeu-ufem forg fom 4 g ? G S
@A (B) IW (C) SR-ufEm (D) S
In a compass every direction is rotated to 135 degrees from the original direction. In which directiof

will South-West be if the rotation took towards clockwise direction ?
(A) East (B) North (C) North-West (D) North-East
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112. = fean T aR m < emar =sf 2006 aﬁzow%%@%ﬂﬁ%?ﬂ@ﬁﬁﬁ?

114.

115.

116.

113.

fsht (1000 =t dem #) <ol #1

The bar graph given below shows the sales of:books (in 1000s) from six branches of a publishing

company during two consecutive years 2006 an,d 2007.
2006 @12007ﬁw9wn$ﬁﬁe€waﬂ A1, A2, A3, A4, A5 3R A6 @gmﬁaﬁﬁrﬁ (&M

o HEH) e
Sales of Books (in thousand numbers) from Slx Branches A1, A2, A3, A4, AS and A6 of a publishin

Company in 2006 and 2007.

120 (™
105 o il

100
80
60
40
20

R R SRR TR T
2006 2007

SECE D %qmrermﬁgaﬁaﬂmaﬁaﬁ%mwm = F fasmt @ S| TR 2

What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for bott

years ? ;
(A) 57 (B) 8:9 i (g) 7:9 - (D) 6:7

T iz Fe we #, ‘FLOWER’ 1 ‘RFOELW'3 iacrﬁ@ﬁa%marm% @ ‘ANIMAL’ 3! 38 TR fae
S -

In a certain code language, ‘FLOWER’ is coded'as ‘RFOELW’, then ‘ANIMAL will be written as :

(A) LAJDNM (B) LAIANM (C) LANIAM (D) LANJAM
@ﬁfmmﬁ ‘N’ a_?'- st ‘S -aﬁ iD :H! a_ﬁ' On iol a_ﬁ- P! III aﬁ- [Kl’ ‘M a;‘l- 12:) :As.a_?[ ‘M’ 31"-{ sGa ﬂ- (S
feran s B, dt 39 @ie # ‘ORGANISM’ &3 ferar sram 2

In a certain code, ‘N’ is written as *J’, ‘S’as ‘D’, ‘R’as ‘Q’, ‘O’as ‘P, T'as ‘K, ‘M’ as Z',‘A'as ‘M’ and ‘G

as ‘S’, then how will ‘ORGANISM’ be written in that code ?
(A) PQMKJZDS (B) PQSMJKDZ (C) PQDZSMKJ (D) DZMSJPQK

T U] § UF SNSHl, STH! T, W%ma%eﬂtagﬁvmsﬂrméﬁwﬁmﬁfﬁqaémﬁ
9l H fear a4 2 P

A party consisted of a man, his wife, his four _sons and their wives and three children in each son’s
family. How many were there at the party 7N

(A) 23 (B) 18 : '(C) .+ il (D) 22

ﬁﬁﬁnwwﬁ 'ﬂﬁ:srraﬁq?rﬁmﬁ 135 mwwﬁlaﬁwaﬁaﬁﬁwﬁmmaﬁ
A (B) W (c:) SeR-ufEH ) SW-qd
In a compass every direction is rotated to 135 degrees from the original direction. In which direction

will South-West be if the rotation took towards clockwise direction ?
(A) East (B) North (C) North-West (D) North-East
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117.

118.

119.

120.

121.

122.

123,

124,

[ —

& e § A0 A

Find the odd one from the given series :
4, 16, 36, 64, 100, 121, 196, 256

(A) 256 By 36 . % {C) 121 (D) 100
o A 1, 12, 144, ..., 20736 T AT 5
Find the missing number 1, 12, 144, ..., 20736,
(A) - 1287 (B) 1728 . (C) 1278 (D) 1782

afg s TLBSBEAKLA % m@ﬁyﬁa@mﬁw@awwmm% ol @ % W % T BR

q BT &R 1 B 2 -
If the name of a game is formed by rearranging the letters of the word TLBSBEAKLA then what will be
the sixth letter from the right end of the name of the game ?

(A) S (B) E C T (D) B
IR ERICREIE]
Find the dissimilar word.

R54, W68, U63, L36, Y75
(A) Y75 (B) W68 R54 (D) U3

M, N, O, P iR Q 1= fist § | 37 & Y& F1-5a1E STer-3Ter £1 0, P 3R N ¥ o € 3l Faet M 3R
Q@E‘lﬂ%lﬁﬁﬁ@ﬁﬁNﬁW%lﬁﬁWﬂﬁﬁ%’

M, N, O, P and Q are five friends. Each of ‘hem has a different height. O is taller than P and N and
shorter than M and Q only. Only one person |s shorter than N. Who is the shortest ?

(A - | P '(C) M (D) O

fa%ﬁm#aamgaﬁ%mmﬁmﬁmﬁﬁwﬁmsﬁam%lﬁmaﬁaﬁsﬁtm%ﬁtm
faue 7% 9g=n % T 15 X 9o €| fR 9% =€t =t fauda fewn & 90 feult g € iR wiwt Wid Th
Tga % T 8 Wi wor |, %Hﬁﬁt@m%@tmq@ﬁ%ﬁqsﬁam%rmﬁﬁwa:m
% waiea fora fn # 22 _

(A) TN (B) & =(C) wufzm (D) <fam

Lihaan walks 8 m towards South from his offlce to reach park. Then he takes left and walks 15 m to

reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan’s

home ? 0D
(A) North (B) East i (C)r West (D) South
)

6 =fr@di U, V, W, X, Y 3R Z § &, 72 7@ o, U %0 @ %1 3 safemdl A dan 1 W, V A e 8, STt St
1 afe o T 1 X, WA BT 1Y, U AiEEn € ek X, U A 91 €1 <78 | <o o ol iF ©2

Among 6 persons U, V, W, X, Y and Z, it is known that; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter
than U. Who is 4th tallest among them ?

A X (B) V (c) U (D) W
48 7o T HE F 14 A BRI §1 12 A F 5 7o g7 FRT T B i w6 wifw)

48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.
(A) 7.9% (B) 8.9% (C) 13.5% (D) 9.8%

_%7..1-:,

MyYz-24
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125.

126.

127.

128.

=129.

130.

131.

132.

J@A 1,6, 23,76, H et WA J@ HifwQ |

Find the next number in the series 1, 6, 23, 76,

..._._.._

(A) 198 (B) 237 (C),__k274 (D) 148

afg 53 + /243 =24.249 ¥, @ /192 +15.3 a?rmazn‘@m?

If 53 + /243 =24.249, then what will be the value of 192 +1543 ?
(A) 40.84 (B) 39.84 (C) ‘“33 84 (D) 37.84

gfg RED ®1 UHG & &9 H wifed ferar s €, a BLUE = foem w9 H sifeq fopan swm ?
If RED is coded as UHG, then BLUE will be coded asj
(A) EOHX (B) FMUH (C) “EOXH (D) EOHU

¥ 98 & T W M a6t WE 91d i)

Find the number that comes in place of the questlon mark.

1:157:169

(A) 18 . (B) 14 (C) 15 (D) 13

whifdeh i TF H Seh1 a5 55 Tohedl | ST «ifeh 62 fohell @ 1 71 576 fan whifdier & Wewa 7161 € oF
B%W%ﬁaﬁﬁmmamsoWﬁméﬁ?mﬁﬁ‘rﬁm%laﬂﬁwwm%ﬁs IHF
T 58 et @ a&:ﬁqﬁ@m%mﬁwﬁaﬁmﬁwﬁ‘ ot shifder & fafis dwifaa i =
Sfroa R ? 0

In Karthik’s opinion, his weight is greater than 55 kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik’s weight is greaterthan 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greater than 58 kg. If all.are correct in their estimation, what is the average
of the different possible weights of Karthik ? E—;:; <

(A) 59 (B) 58 () 57 (D) 60

saﬁa@ﬁﬁmﬁ(maﬂqgﬁﬁﬁamwm@m%?

What is the angle between the hour and minute hands of a clock at 3 o'clock ?

(A) 75° (B) 90° (C) 30° (D) 50°

Ife A 3R B < T 38 YR E fF, A # a@ ®1 5@ 20 €, B # aol B 9o 18 ¥ 3R A ik B S
Il &1 §&A1 10 8, @ n(A U B) I Sifeg |

If A and B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both Aand B is 10, find n(A.y B).

(A) 18 . (B) 28 (C) ‘-ae (D) 48
T e 5, SR (X) § faw o g @ Fa- ﬁ@ﬁaﬂ@muﬁ%?

Find out which of the figures can be formed from, fhe pieces given in figure (X) ?

61;@
7 2
N

A) [5 (B) [ (©) I | (D) E |
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133. Afear iR urd gam F9 §92

134.

135.

136.

137.

138.

139.

(A) aﬂ‘fqﬁ%mﬁﬁm% (B) <l TETe A Hi¥ Y X weq ¥

(C) 2T A THHI U Fhar ¥ (D) = v ¥ e v €

How are rivers and streams similar ?

(A) Both are static bodies of water Both flow downhill

(C) Both contain saltwater Both are found in deserts

fowm g | |

Find the odd one out.

@ } @ | N[O o P L
I B TS A

Find the next one.

Identify the incorrect number in the following:series.
12:10;6;1, =8, =18 =

(A) —18 B) 1 12 (D) 10
991 : 91G :: Y@l : g9 : .
(A) SUS (B) Aty (C) 3T (D) TEH

Complete the analogy :

Rain : Flood :: Drought : ;
(A) Harvest (B) Abundance:, = (C) Famine (D) Storm

g A+BH AL T F A, BH wré%;Axé*ai_ifeTef%‘“ﬁA, B % fraT ¥ siR A — B w1 1f ¥ o6 A, B o1 51&
3 Frfafed 3 ¥ PH-w1 ey gl € LK F s 32

If A+ B means A is the brother of B; A x BTheans Ais the father of BandA—B meansAis the sister of
B, which of the following relations shows that | is the niece of K ?
(A) KxY+I-Z (B) K+Y+Z—-Ll;_:}__ (C) K+Y¥YxI-Z (D) Z-IxY+K

A )

o sir BT e 1280 SRR 1 TR T WEE T & @ ¥ 1% e 15 o % Y, T
foneges 3, 41 aqe A foran e €2 g

A group of 1280 individuals, consisting oF teachers and students, Is attending a conference. For every
15 students, there is one teacher. How many teachers are in the group ?

(A) 85 (B) 70 (C) 75 (D) 80
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140.

141.

142.

143.

144.

145.

HI-91 We AYE | T ® 2

A J (B) = (C) TSR (D) e

Which word does not belong in the group ? =% :

(A) Apple (B) Cherry e(_CL Carrot - (D) Banana
G- I STHR H Y, 5 T B Y h_: W%m@wmmw%?
(A) TEEEE (B) ysien fcj e (D) THd

What is the shape of the cross-section, when %n e is cut by a plane parallel to its slant height ?
(A) Hyperbola (B) Parabola

(C‘ © Ellipse (D) Circle

wﬁﬁwwwﬁqﬁ@aﬁﬁﬂa—ﬁmﬁa@?

Which of the following figures will come in the missing place in the below figure ?

N SE
] A 8[] »[O

T ©d H, T faaret 100 aﬁﬁﬂﬁ'@m%l‘;@?ﬁ?ﬁ @f@a@waﬁﬁm@‘rm%lsw
& a1%, U & 130 7 ¥, sifa & 90 i ¥, Areilh 120 i § 2R fae & 110 37w T 13k e A e
3 TS § 30 7% Wia fg, dF siftm 2 WS H S fhad S @t ?

In a game, each player starts with 100 points. In each round, a player can gain or lose points. Afte

5 rounds, Alice has 130 points, Bob has 90 points, Charlie has 120 points, and David has 110 points
If David galned 30 points in the first 3 rounds, how many points did he lose in the last 2 'ounds s

|F‘|'

(A) 30 (B) 10 (C) 40 (D) 20

% fasea 3 St oifshal | e 1 by

(A) <faw s@fe (B) AW (©), & sfm (D) o

Choose the option which is different from the r g}t;z

(A) South America (B) Europe % @; NorthAmerica (D) Argentina
' 8 8] | RN

faam =t @S ) - O

Find the odd one. N

@
o |{%)
Q
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146. T TN S R-Felihoita Sl wia svem § wifs .

147.

148.

149. ©s

(A)
(B)

(C)

(D)

IRl St S g | W D ¥, el et Sl e gt @ e 9 ¥

ﬁwﬁuwﬁaﬁﬁﬁm%mmmﬁﬁﬂﬁ W ST Gehdl ©, STefeh TR-Te 10l
Sl | T8l R G |

Feltepoita St i 9 €, safe - ﬁwﬁawmaﬁﬁ%l
mwwwgmﬁwwa‘raﬁwﬂ Wwﬁw%aﬁa%u

A renewable and non-renewable energy source are different because

A
(B)

(C)
(D)

Non-renewable energy sources are denvéd from the Sun, while renewable energy sources are
derived from the Earth.

Renewable energy sources can be replenlshed naturally over time, while non-renewable energy
sources cannot.

Renewable energy sources are finite, whlle non-renewable energy sources are infinite.
Non-renewable energy sources are more environmentally friendly than renewable energy
sources.

faed A, B, C 3R D ¥ @ faa (X) =1 @&t si-wfafsis g

Choose the correct water-image of figure (X) from alternatives A,B,CandD.

X N
e
X)
-3 e = =
A X N B X’ B X O x=m
for T fot B Pyl (2RiTew ) H WS R |
Find out the number of triangles in the figure; =._:
1
3/.4 ][5 \6
- 7|8
9 13 :
10 2
14 L 16 %
15 N
(A) 60 (B) 32 (C) 39 (D) 46

wirdy o ¥, 2smﬁéaa%ﬁuqm§rﬁzﬁ T o 1 S foRa | Af AR S K O

Teh Tl
9 g &, A1 3 e @ TR IR &, A Forsyar 1 Freifor @ o forg s #el i FAan qe F

$?

L)

In a school sports club, 25 students decided {to participate in a table tennis singles tournament. Each
time a student loses a match they are eliminated from the tournament. What is the minimum number
of matches required to determine the winner ?

(A)

24 (C) 25 26

(D)

27 (B)

21
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150. o foren 2 ¥ gom geedi % v & foe waf W faem

1 e, 2023 T g 23 W 28 T4 & 9|

Fr SIS A T SN ()

FH QA T 60% i & WY FH TG H Ireigee feit |

$oxy H 50 § ¥ =AW 25 3w |

Ifg Iefiear & 9 PG & 81 AL He aftss W TeE bl Sl S =fed |

AfE IFfTER $2% H [T A T F §, A A H Fere & Hifaes w a5
aﬁaﬂﬂmﬁmﬁmﬁmmmﬁﬁﬂmﬁfaﬁ{um% A " HE % S
SAIE

Fr=fafaa STHER & meﬂwﬂ?maﬁﬂ—xﬁmﬁaﬁmﬁm7

T FHAR : M.Sc. $7 HR TEH 62% 3! & @iy | 5 faf¥ : 10 o8, 1990 | Feger foers & w9
4 QI &1 3T9E | T2 H 40% 3w fea)

(A) A TEE

(B) WmHen %y % fews #Y e W ¥

(C) FHIRAR i JFTeR T Teed & w9 H A S ]

(D) t—rnﬁaaﬂwwqﬁfmma

Consider the conditions for seiectmg faculty members in a computer education centre :

Age between 23 to 28 years as of November 1, 2023.

Work experience or programming experience.

Postgraduate degree in comp’iit’g_a_,i* application with at least 60% marks.
Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate does not score, mmzmum marks in the interview, the case is to be referred to
principal of the institute. '

g. lfthe candidate satisfies all other qualifications except the age limit, the case is to be referred t0
the director of the centre.

Which course of action should be taken for Manish Kumar based on the following information?

Manish Kumar : M.Sc. in Computer Science with 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtamed 40% marks in the interview.

(A) Dataisinadequate
(B) Case is to be referred to the dlrector of the centre
(C) Candidate is to be selected as"a junior faculty member
(D) Candidate is not to be selected:;-
)
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